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=) 0 0.03 0.11 0.17 1.82 3.15 0.88 0.11 0.05 0.01 0.01 _—
= 0 0.03 0.03 0.11 0.30 I 1.54 1.48 0.07 0.05 6 6 0 0
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20



percent (%) percent (%) percent (%) percent (%)

percent (%)

100

(o]
o

(o2}
o

~
o

N
o

S o

100

(o]
o

(o2}
o

~
o

N
o

S o

100

(o]
o

(o2}
o

40

N
S o o

100

(o]
o

(o2}
o

40

N
S o o

100

(o]
o

(o2}
o

40

N
S o o

GEOS—Chem v10—-01a Frequency Distribution
ctm.bpch.v10—=01a / ctm.bpch.v9—02r.geosfp

BrO
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=) 0 0 0 1 0.05 0.11 0.18 0.08 0.05 0 _—
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= o014 0.26 0.27 0.41 0.56 0.58 0.82 1.28 419 4.29 2.05 1.28 0.98 0.73 0.57 0.41 0.34 0.29 0.23 0.21
= I o T I o=
0 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
IEPOX
mss  0.07 0.14 0.18 0.26 0.43 0.68 0.83 1.49 5.43 7.87 1.95 1.36 0.97 0.69 0.53 0.56 0.58 0.25 0.23 _=37
F0.08 0.07 0.16 0.21 0.30 0.47 0.72 0.97 1.96 6.12 4.93 1.67 1.36 1.10 0.93 0.75 0.48 0.44 0.21 021 —
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ORGANIC CARBON Optical Depth
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